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char first[10];
scanf(“%s”, first);

printf(“\nFirst string 1s : %s”, first); PAIEYIglale@TREL
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gets(sland ) yuiis);
char str[21];
oets(str);
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char s[20]; Sahand University!

scanf(““%s™, s);

-----------------

s[0] s[1] s[2] s[3] s[4] s[5] s6] s[7] s[8] s[9]s[10] s[11] s[12] s[13] s[14] s[15] s[16] s[17] s[18] s[19]

gets(s);
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puts( glats, posio);
e

char name| | = “al1”’; Your name 18:
puts(““Your name 1s: ”); ali

puts(name);
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#include <stdio.h>
int main(){ Length of your string 1s : 18
int 1=0;

char str[50];

gets(str);

while(str[i]!=0")
1++;

printf("Length of your string 1s : %d", 1);
oetch();
return O;
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void funcl (char x[]); ;
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char x[10];

funcl(x), oa.wso )Sé AL f”l-’ ‘(':‘l-’ uu;)T Pl
func2(x, 10);

return 0;
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#include <stdio.h> Enter a string:

void upper(char []); Result 1s:

int main() IT IS ASTRING

d
char s|21]; void upper(char s[21])
printf("Enter a string: "); {
gets(s); int 1;
upper(s); for (1=0;1<21;1++)
puts("Result 1s:"); if (s[1]>='a' && s|1]<='Z")
puts(s); s[1]-=32;
getch();
return 0; }
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#include <stdio.h> Enter a string:
void replace(char [], char, char);
int main() Enter source character:
{' Enter target character:
char string|50]; RG SRS
char source letter,target letter; Al1 1s t mtntger.
printf("Enter a string: ");
gets(string); void replace(char s|], char chl, char ch2)
printf("\nEnter source character: "); {
source letter=getche(); Int 1;
printf("\nEnter target character:"); for (1=0;1<50;1++)
target letter=getche(); if (s[1]==chl)
s[1]=ch2;

replace(string, source letter,target letter); i-

puts("\nResult 1s:");
puts(string);

getch();
return 0;
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strepy (strl |, str2);
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strepy(s1,”’computer”);

3 ------------
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strepy(s, “This 1s a statement. 7);
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strcat (s1, s2);
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char s1[21]="Sahand”; J[_w
char s2[21]=" Umnversity”;

strcat(s1,s2);
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char name|3][15];
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#include <stdio.h>
int main(){

Int 1;
char name[3][15]; RkEH% [nyverse of names; *** %
Amin
for (1=0;1<3;1++) Mohammad
ogets(name(1]); Al

puts("***** [nverse of names: *¥****");

for (1=2;1>=0;1--)
puts(nameli]);

oetch();
return 0;
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